

13/11

Εξισώσεις α' βαθμού.

$$3 \cdot (x+2) - 3 = 3x + 5$$

$$3x + 6 - 3 = 3x + 5$$

χωρίς γνωστούς αγνώστους

$$3x - 3x = -6 + 3 + 5$$

Πράξεις

$$0x = 2 \text{ αδύνατη}$$

$$2(x-1) - x = x - 2 \quad \text{επιμεριστική}$$

$$2x - 2 - x = x - 2 \quad \text{χωρίς γνωστούς - αγνώστους}$$

$$2x - x - x = 2 - 2$$

$$0x = 0 \text{ αόριστη}$$

$$2(x-1) - 5 = 3(x+1) - x$$

επιμεριστική

$$2x - 2 - 5 = 3x + 3 - x$$

χωρίς γνωστούς - αγνώστους

$$2x - 3x + x = 2 + 5 + 3$$

$$0x = 10 \text{ αδύνατη}$$

Ηω Ασκ 1 α, β, γ σε 2 88